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Ult = time translation operator
Hamiltonian is generator of time translations



Heisenberg Picture (HP)
so far : Schrodinger Picture (SP)
HP is on equivalent way to formulate QM
SP HHH.tk it ¥44,4
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In SP
,
H depends out

His built up from p^=ih1× I = ✗
no explicit time dependence



In HP
,
wavefunction is independentof the

4+1×1=444,1--0)#
the time dependence goes in operators
D= operator in SP ( OT)

= WTH its Ult⇔ .

Physics cannot change SP→ HP

In SP Lo> - f 4%+105%4,1-7 DX#



In HP do > = SHHH ⑨ 4 A) dx
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Classical Mechanics f. ( 9. Pit)

¥+={ fit } -19¥



{ f H } = ¥
,
¥p -8¥ ¥,

Take 0s =I = & what ñ Éµ ?
I
*
= UᵗHh%hH)=ÑlH✗Ul

" ᵗ¥É -

_ [In it] to
=

iʰ¥¥€wᵗ✗u H] = Ut E H] u



I skipped steps [u til = 0 H=¥m + V14
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Similar algebra
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